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Note : Attempt all questions.
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Graph paper is required.
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neral Instructions : Use®f calculator is not permitted.
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Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write
true/false are given. Each question carries 1 mark.

(iff) W HHE 2 ¥ 6 T AR ¥ § 1 TR@F W W 2 3%
arreifed € |

Question Nos. 2 to 6 are very short answer type questions

Each question carries 2 marks.
S4B+ (Graph)
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Question Nos. 7 to H) are very 8

linch question carrics 3 marks. o
Wy w11 4 14 ﬂmmﬂmm%mﬁzﬁmﬁ A
forarea & | welw We W 4 i sTifed € |

Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
¥ FUIE 15 T 16 HYET 9 & |y v i aAfafes fawed
¥ | W W W 5 3w areifed ¥ 1

%I'ﬂﬁa‘_m qy 3 3F

hort answer type questions.

- Question Nos. 15 and 16 are short answer type questions. Each

(vii)

question has an internal choice. Each question carries 5 marks.
W SHI% 17 TG 18 I 997 € I8 WA ¥ srfafis faeey
T | U® W W 6 3 aTeifed ¥

Question Nos. 17 and 18 are long answer type questions. Each

question hg{\an internal choice. Each question carries 6 marks.

uH-1

S-4B+

%\)

(W—ﬂ)ﬁﬁﬁ?ﬁ@?ﬂﬂm [1x5=5]
(Part-A) Choose

(i) T (x?

(3n 2,-2
() 2,2
(7)) 2,2
(%) 0,2

o, .
write-the correct option :

S
—%)%w%:

Zeros of polynomial (x2 - 4) are :

(a)
(b)
(c)
(d)

2,-2
-2,-2
2,2
0,2
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(i)

(iif)

(iv)

)

3]

v # et forvil 1 HE gl €

(37 6 | (%) 8

(@) 12 (%) 16

The total number of diagonals in a cuboid is :

(@ 6 ®) 8

(c) 12 (d) 16

forg (1, -3) fora g 4 grm 2

(37) wuH agufe (=) foda wgafe
(%) Fara wgute (%) =g =qafy

Point (1, -=3) will lie in which quadrant?
(a) First quadrant h (b) Second quadrant

(c) Third quadrant

4 3 —2 1 FHR HILA a1
1 (@
(7)) 0 |
\\@ () 2
The arithmeti@?ean of 4 and -2 is :
(@ 1 Q\&' SRR () I
§§ by -
(o 0 o2
sec 45° x_cos 45° 1 |1 B
.
(& 2 (&) —
| ) . () 5
(") 1 (g) 0
Value of sec 45° x cos 45° will be :
@ V2w L
V2
(© 1 d 0

(d) . Fourth quadrant

S-AB+

P.T.O.
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[4]
-1 (Tus-a) Rew i w5 g wif
(Part-B) Fill in the blanks :

[1x5=5]

() T e oI T o S, 9 —— FEA B

The sum of money on which interest is calculated is known

as

(i) FEx:18:54 9, qf x F A — BRT|

\
If ?: : 18 : 54, then the value of x will be .

E .
(itf) afg cos® =1, @ 6% 9 —— B

If cos® =] then the value of 6 will be ;

(W) 9 % % 3R e % ren-farg Y frremd el Y sftar @ —
e R | )

The line joining cergr of a circle and mid-point of a chord is

to the ch S

Y ' ' '
(v) !
) SE S Q@ﬂ F HR T WA R, 9 A ~—— Bt T

A chord which passes through the center of the circle is

—

of circle.

W1 (Eue-v) v 31 Iy e

. [ 1x5=5)
(Part-C) Write True or False ;

6) aﬁaﬁaﬁmﬁ,a}wmﬁaﬁ%ﬁwwaﬁ%

If two triangles are similar, then theip co

rresponding sides are
always equal,

S4B+ ', T

—
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w¥i-3

S4B+

(5]

(if) sin(90° — 0)F1 | cosf BT ® |

The value of sin(90° — 8) is cos®.

(itf) weieRo e H AT ﬂx—ij-’ 21 @ e atfgdig s W1 g
2

a
If L f—:ﬁ- in the system of equations, then we will get a

a 2
unique solution.

(iv) x-31 W feaa fapeh forg w1 y Frdvies v a1 €

The y coordinate of any point on x-axis is zero.

(v) fora ufin o = %t Torn 9 S 8, S e e ¥
~ The amount on which interest is calculated is called maturity

amount.

aﬁqﬁwg(x),p%)\\é}\wﬁuﬁ@ué%ﬂﬁ
g(x) = x+gz§(x) R ]

Check wh@r g(x) is'a factor of p(x), if g(X) + 4,
px)=x*+2x -1 o Ko |

k< T8 T % fer TRt & o aref Te SR 2, af
9x? + 3k +4=07 _
For what value of k will roots of the equation be real and equal, if

9x% + 3kx +4 =07

2 cos 40°. cosec 50° 1 B[ 0 Fifag

Find the value of 2 cos 40°.cogec 500,

[2]

[2]

2]

P.T.O.
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6]
wya-5  Prafafen sifwe) ) mifters g g
117, 106, 123, 110, 125, 115, 102

(2]

Find the median of the following data :

117, 106, 123, 110, 125, 115, 102

w6 W farg @ g (S, 1) % oftw it g R [2]

Find the distance from the origin to the point (5, 1).

WeH-7 o wHE a2+ 5x 2 =) H el 1 AT O T I i | [3]

Find the sum and product of the Toots in the quadratic equation

x2+5x~2.=0'

Y-8 W9H 9 R gemsi @ aﬂﬂﬁ@ﬁ HIfT |
| o , [3]
Find the average of Q@&irst 9 even numbers,

Uy1-9 zrf:c:(x+4):39;: 1:4 ﬁ,?ﬁxwwﬁaﬁaﬁﬁm
_ | (31

If (x+4):36:7; 4, then find the value of X,

w10 mﬁm%mmmsﬁ% aﬁﬁﬁt%mﬁ:ﬂm%wm’t

oo 14 3t B’ﬁﬁﬁmaﬁﬂ,—‘m{m Fifor
(3]

The area of ;
. curved surface of cylinder is 3696 §q. cm. If the radius

of the base - :
. of cylinder is 14 ¢m, then find the height of the cylinder
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[7]

qT-11 T TR 7 ST I e, R et fhe 154 = . ¥ [4]
Calculate the volume of a sphere having surface area of 154 sq. cm.
arerar
OR
T ded % YR W gRfy 88 I, iR F=rg 10w %,';a_m—ﬂ
HATA 1 HIfY | '
The circumference of base of a cylinder is 88 cm and height is 10 cm.
Find the volume of the cylinder.
qF-12 e AR F Sgesd 96 ST [4]
@R | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
smafr | 4 | 10 | 16 2 | 3
Find the mode of the following table ;"
. z
N\
Class-interval |. leﬁx&\ )-20 |20-30 | 30-40 | 40-50.
Frequency &;\%\) 10 16 12 8
x-S . : -,
S ez
$ st
OR
71 SRl 1 e me T S
i 30 35 38 40 42 45 48
AT 6 5 6.1 8 6 2 2
Find the arithmetic mean of the following data :
[Marks obtained T '
ArKs optaine 30 35 38 40 42" 45 48
Frequency 6 5 6 g 6 2 2
S-4B+
P.T.O.
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[8]

& feq
3,495
WEA-13 @A 300 T W 5% s e W H 1 2
TR s e g F wefdia €
-| 3 4 5
w (ad i) 0 : ’
0 75
WO =311 ( 0 /) 0 15 - 30 45 °
mamwm%aﬁaaﬂﬁ@@?ﬁﬂl _ [ ]
The interests on deposit Rs. 300 at 5% rate of mterest for 1,2,3,4
and 5 years are shown in the folIOng table
Time (in year) 0 1 2 3 4 5
Simple interest (in Rs.) | 0 15 30 45 60 &
. Draw the graph between time and simple interest.
e
OR
A g = PBg’ram@w %ﬁ@wm @, O)‘q’ (mz 4) a‘rm
P y- mam@a@wP%ﬁ%mmamﬁml
If P4 = PB%nd co-ordinates of points 4 and B are (2, 0) and
(2,4 reSpectwely and P lies on the y-axis, then find the co-ordinates
of point P |
Tv1-14 - ‘ | :
ﬁaﬁﬁqﬁﬁ@wﬁwﬁwﬁ ot 1 = Jr 2 ey F T ¥ Gy
% SR BT )
Prove that th 4]
© square of hypotenuse of 4 right-angled triangle is equal
to.f.:he sum of squares of other remaining two sides.
S-4B+ T
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weT-15

e -16

areral
OR

b i g 5 gl o e 180° AT
Prove that the sum of opposite angles of a cyclic quadrilateral

is 180°.

ﬁ‘ﬂABCﬁiqﬁTﬁaﬂEﬁmﬁﬁQﬁmﬁAB= g 4., BC =5 @,
iR ZABC = 60° % | T ¥ W oft fafaEr

Construct a circumcircle for triangle ABC where AB = 8 cm,

BC =5 cm and ZABC = 60°. Write the steps of construction also.

et

OR

6 T, gmaﬁwmﬁw%m:@ﬁmaﬁfmtméﬁ

7g +ff fafen) g\@@

Construct the 1%@1&: of aft-equilateral triangle of side 6 cm. Write
the steps o@stmctmn also.

T S 3150 6, Wi X q 2 T q T 5wl § S
=T ¥ 1A = T 5% i €, 9 I 2 9 ag e SR W
gt 2 | £

A person deposits Rs. 150 per month in a Recurring Deposit Account

for 2 years. Find the amount he will get at the time of maturity at the

rate of 5% per annum,

(5]

[3]

S-4B+

P.T.O.
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(10]
srerar

OR

TF SRR X 20,000 %, 1 ¥ forg Wty s @ d ST ERaE | A
= & R 6% NE B A = v Wl qaifed g €, @ fraa fafy
gy foem aret w=t et gt ?

A person deposited Rs. 20,000 for one year in a Fixed Deposit

Account. If the rate of interest is 6% per annum and the interest is

compounded every six months, then what amount will he get after
due date?

wH-17  fag wifse fs

1 —cos8
14+ cosf

= cosec B —coth

Prove that

1 —cosb
14-cos® ccg\@%* CA
N
N
N
37eqr
OR

cos® . cos®-

1—sinf 14-sind -

Solve the equation ;

cosB cosB
1-sin®  14sin@

(6]

S-4B+
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[11]
ug-18 s e T A w1 pal R g 3 g W p A, W g F T
P+ RYALI (6]
If pt" term is ¢ z;nd g™ term is p of an arithmetic progression, then
prove that (p + q)‘h term is zero.
| 3rerar

OR
¥ g T 3 g GEte FEE ke — Sy =2 SR 6x + 2y =7 H—
(i) sifgdra g B;

(i) BEMETATR?
For what value of k, system of equations kx — 5y = 2and 6x +2y=7

has—
(/) unique solution;

(if) no solution?
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